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IE -2 BiRE % il OUT | IN |GROSS| HDCP | NET
1 FHFL zZE 36 36 12] 3.0/ 69.0
26 B EX 42 38 80| 10.0, 70.0
ML B =5 41 41 82| 11.0 71.0
Mau BE R 37 38 15 4.0 71.0
S |RA ThE 39 40 19 1.0] 72.0
6L |Bk [EE 37 40 171 5.0] 72.0
M | HFO Fi 43 39 82| 9.0 73.0
8L |FER X 41 42 83| 10.0 73.0
Of |dbm 3Lk 42 44 86| 13.0 73.0
100 |HE: ZHR= 41 45 86| 13.0 73.0
11462 [0k FE) 44 40 84| 9.0 75.0
1261 |FFI5  SF 45 42 871 12.0, 75.0
1362 [/MI - 158 44 41 85| 10.0, 75.0
144 JR H»Ec 45 43 88| 13.0, 75.0
15 Bl RFE 44 43 871 12.0, 75.0
1662 & —HE 41 41 82| 1.0 75.0
176 [BEE #— 43 43 86/ 10.0 76.0
181 |#I =hF 43 43 86/ 10.0 76.0
1961 ANl &RF 43 44 87/ 11.0 76.0
20 HF  BEk 38 47 85 9.0 76.0
2161 |BH B= 36 49 8| 8.0 71.0
22tc |MAF i 46 46 92| 14.0] 78.0
236 45 — 1t 44 46 90| 12.0] 78.0
2461 | J/IR B4 40 43 83| 5.0 78.0
251 | ERIFF BRAT 41 44 8| 1.0 78.0
2660 HNJIEE  1ERI 44 48 92| 13.0] 79.0
2161 |ARIR & 48 40 88 8.0 80.0
286 HE IEA 42 41 83| 3.0 80.0
2961 |miH  FHEF 46 46 92| 12.0| 80.0
306L M s 42 43 856 5.0 80.0
31 HEz & 45 46 91 11.0] 80.0
32061 |[fFEE BT 43 47 90| 10.0| 80.0
3L E T 43 49 92| 12.0| 80.0
A6 AR BX 90 40 90| 9.0| 81.0
35z | #FIL KZHR 42 46 88 7.0 81.0
366 MEAR B 42 90 92| 11.0] 81.0
3L AR IR 90 42 92| 10.0| 82.0
38 |FRHEH F 46 46 92| 10.0| 82.0
39 AN BIA 45 46 91| 9.0/ 82.0
4061 |HH H= 46 49 95 13.0] 82.0
41461 |%HE Fin 47 46 93| 10.0| 83.0
261 | BE EF 48 48 96| 13.0| 83.0
B [P E= 45 45 90| 6.0] 84.0
M BEH FX 45 48 93] 9.0| 84.0
A5z |gElR  #AFD 47 51 98| 14.0| 84.0
4662 4B =R 40 50 90| 6.0] 84.0
4t |8 B 50 46 96/ 10.0| 86.0
86 FXR —7 47 48 95| 9.0| 86.0
4961 |HR 50 51| 101 14.0/ 87.0
50 EH Fth 94 49 103 13.0/ 90.0
516 R K 90 52/ 102/ 10.0/ 92.0
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